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14th December  

  
Joshua and Kevin go for a meal. 
 
Joshua's meal costs £13.50 and his drink 
costs £2.25 
 
Kevin's meal costs £12.50 and his drink 
cost £2.55 
 
They have a voucher that gives 30% off 
their meals, but not the drinks. 
 
They also pay a £5 tip. 
 
Joshua and Kevin share the cost equally. 
How much does each person pay? 

 

Shannon thinks of a number. 
 
She multiples the number by 6 and 
then subtracts 90 from the result. 
 
Her answer equals the number she started 
with. 

 

What was the number Shannon started 
with? 

2,137 × 74 665 ÷ 19 


